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INSTRUCTIONS TO THE CANDIDATES

1. Theadmissiontothe examinationis provisional.
In the event of any information fumished by the
candidate found false / incorrect / incomplete
detected at any stage, the candidature shall
be rejected.

. Darkenthe circles in the OMR sheet completely
with Black / Blue ball point pen only. Partial
darkening shall not be evaluated.

M

[44]

. Darkening two or more circles completely /
partially shall not be evaluated.

4. Changing the darkened circle in any manner
putting X" mark / using white fluid / erasing by
rubber / blade etc. shall not be evaluated.

9. This question booklet shall not be opened until
instructed. Write your Roll No. correctly in this
booklet as well as in the OMR answer-sheet.

6. The candidate should check the No. of
Printed Pages and Questions along with their
Serial Nos. In case of any discrepancy found,
exchange the defective one and collect
another correct one from the invigilator within
5 (five) minutes and thereafter no complaint
shall be entertained.

7. The examination shall be conducted as perthe
Odisha Conduct of Examination Act, 1988.
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Each question has four possible answers. Choose the correct answer frﬂﬁl‘nh
among them and darken the appropriate circle completely in the OMR Sheet W

Blue / Black ball point pen.

( a4 16 6 FRIRRIQ W

LCHILD DEVELOPMENT & PEDAGOG\j

1. 1958 qidgleq 1aw 981 Gres 900
QIe18 @80 ARIOf @a gem?

(A) &a4IGal g6a
(B) 96 QIR 696
(C) I 62
(D) QARG IR TEw
2. 634160 QENIE! QIIGFER SEAIN.
6@6eIC SIBIsa 491 fUIQILE ?

(A) 18 (B) 10
(C) 21- (D) 29

3, 6060 @680 8 ANTS FANNAA] 99
cEaQ 26e? '

(A) 2@ aaal 6iq G g
eRImard
(B) <2l G818 95 REARIEH AN Q6Q

(C) 9%l 6gRQ FYAER QIR
(D) 92 GRINIRG AR I AT QUee

QIgo6a QLAY SR

1. Who was the Chairman of the National

Council on Women's Education,
established by the Govt. of India in
1958 7

(A) Jyotiba Phule

-(B) Durgabai Deshmukh

(C) Swarnakumari Devi
(D) Savitribai Phule

. In how many languages Multilingual

Education Programme is now going on
in Odisha ?
(A) 18
(C) 21

(B) 10
(D) 29

. Whichofthefollowingis a characteristics

of continuous and comprehensive

evaluation ?

(A) Itincreases the workload on
students by taking multiple tests

(B) It helps in reducing examination
phobia

(C) It replaces grades with marks

(D) Itis useful to label children as
slow or intelligent

OTET/P-l | (2)
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4, BONYS Y 699 QBT g98 S
daidis ax 0q?

(A) 996 QRIS RIS 684160 Som!
R0ER QARSI GaRia

(B) €QfIGE Q8 QRN QIR ARISE
999 AHER IS AYSI BISER

(C) €QIER QIGE Tnis 92 §d @RS
QIdy *AQIQ aR Q2B

(D) 6QfIeg a2l 9891 SHIeR 88 6%

5. 96480181 eFNIEER '€ ABR S1RI8
gen! 6a% aaIadg adard ?

(A) 0 aeIAE
(B) Z@6QISHS! a3d
(C) MRS 1S

(D) 88 qe aas

6. 694 gela daIee gaes Ada AR
QoQ 9aAIae avIRl gge ?
(A). QIRIAS 2906aIe9
(B) Q0% AFAGI

(C) 2uald g6l

(D) QRS AAD -
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4. Which of the following statement is

true about hearing impaired students ?

(A) Hearing impaired students should
sit near the window of classroom

(B) General teachers should learn sign
language for interaction with them

(C) They like to perform group activities
along with the general students

(D) They should not learn to speak

. The information about a learmner, what

he/she can do in future could be
known from which type of test ?

(A) Achievement Test
(B) Aptitude Test
(C) Standardised Test

(D) Teacher made Test

. To identify which type of educational

weakness, achievement test is
essential ?

(A) Emotional maladjustment
(B) Reading disability

(C) Delinquency

. (D) Allof the above

OTET/P- (3)
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7. GeRye aug 6ede oid aeg B
999 99 QIRe g& qed 7
(A) 69609 01 399 o0r @f age

TAIAIEA R 2R Fee

(B) QS 90 3999190 oq

BRIREI

(C) 62 9aae 38a siesy JRuIaq

@98

(D) QoI 2ese gas aase

919 a9 falrg

8. G40 69ER 3919 QIRIQ TRITR Fi6T?
(A) 699 e°gIggd
(B) 6@eq atsedn gae
(C) <aIgga 6 969 aIRIde Fai
(D) eeew deRoe 0BER

9. 'ZURGI 8 gIAE 710l 210069 0Reae
2 386’ - 92 QIRQ A9 ?

7.

8.
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Which of the following is not & demerit
of long answer type question ?

(A) Secured good mark in the
examination on choosing selected

topics
(B) Reliability of the scores becomes
less

(C) Different examiners evaluate in
different ways

(D) Handwriting of the examinee does
not influence the score

Cognitive development among children
is the result of

(A) Only heredity
(B) Only environment

(C} Interaction of heredity and
environment

(D) Only economic factors

‘A modification of an individual's
behaviour through experience and
training’ - is the thought of -

(A) qI5eq ad (A) Gardner Murphy

(B) dea (B) Skinner

(C) 498R . 696Q (C) Edwin A, Gates

(D) @R (D) Kimball
OTET/P (4)
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10. o668 8@ Q0T qeedlr Fee oF 10. How can a teacher foster creative
@RaIReS ? thinking ?
(A) F8IEIS a0 20900 ooa QYeEe (A) By keeping constant surveillance
on learners
(B) 9 dmidia 019 2TRT6R AIEFIE! (B) By expecting nothing less than
disll @926 perfection from every learner
(C) SNieaR e aidis Saedses (C) By selecting difficult activities for
N9Ig UI0Q QA9 QI 9F 996aa Fe6 learners and providing them rigid
QAT directions to follow
(D) JEnes aiel 38R eaIR Meiea (D) By providing opportunities in
g64idl 93 Qaea different ways to the learners
11. 399 AU 6RET Fasa 6 ANTe 11. Among the following, which cannot be a
FRUIARS 96 2°8 621RAIGIR GIE? part of continuous and comprehensive
evaluation ?

(A) QEQ1 908 ag (A) Cumulative record

(B) S48 @Iy (B) Assignments

(C) 2ERISR-GRe 650% (C) Parents-teachers meeting

(D) B Sead (D) Anecdotal record
12. 98 d84 alR JRING 6x6 9w 12. For better leaming, which type of
6461 ARELE0 MYl K691 95 ? environment should be provided to
children ?

(A) 6QGI0I69 6AAIEH YR EHAGE (A) Where they will get maximum
Qa9 QI9 g6QIT QIRES chance to play

(B) 6QL0I68 6AAIRER 2HEGI G (B) Where their experience and feelings
ARG AEY A TR will get a proper place

(C) 69EI0I6E 6AAIRG 2 AL (C) Where they are likely to become
e more and more friends

(D) €RL0IER FEOIR GHRI GTe (D) Where strict discipline is adopted
AR

OTET/P-i ()
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13. AGQIQ1 28060 ARIAIRG o8 SaIeTa

QRAAING TN 2EqY o09 Base
QI ONQ 699 A9 QG SIS ?

(A) 488 g ggd
(B) 419, QI9y, g6 ©ae

(C) @I 0L

(D) 6919 Ae, 6RIR 9% QeUd Sagsn
AIE gF

14. 39 609 9@ Qo4 2169 7

QR SR QY99 869 ages A@
ARl

(A)

A81%1 99 ANAER FRG EG ANl

(B) % al;
dgaiea @12

F6a8 9o SIPIS FRIER 6R9R

(C)
AUFYIe RIS 6 FRFT TR 2egS

Ag4e1e FI58 AAIe A6 R6a Jad!
QRIGE 9510 Adieh 01g S86 andisa
@6

15. QUG Qe SYE00 6IHG ARG
a96 QAR 2IREYR ?

(A) O@e 280 Jai
(B) qiede 2egaes daidr
(C) QP Smie

(D) @asqIe aag

13.

14.

15.
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In tribal areas, which is a function

organised by ‘Srujan’ to attract the
children and community members

towards the school ?

(A) Preparation of teaching aids

(B) Song, music and dance festival

(C) Story telling festival
(D) Develop of local song and local
story etc among them

Which of the following statements is
true ?

(A) Multilingual teaching system is
helpful for learning progress

Learners cannot learn more than
two languages at the same time

(B)

(C) Only scheduled caste and scheduled

tribe students are inclﬁdsd in special
category of students

A scheduled caste stqr,fént has less
learning capacity than a general
student having same age group

For whom, individual aduc;.aiiun plan
should be developed ?

(A) Locomotor disable student

(B) Mentally retarded student

(C) Girl student

(D) All of these

OTET/P- (6)
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16. 29 QIRYSE SIRQ! F8 aIg €969

@GET! GIM QIR TNA (KGBV)
198 YAUINYR ?

(A) GRIQ 2004
(C) 99w 2009

(B) =oq 2012
(D) [EaRa 2005

17. gm TNAT (065 ANTE SR 7SN A
‘a7

(A) D64Q AnIS 6Q1RG, AINIGS el
MHAC FRER AR T8

(B) 69164 99 9@ Q0EE 99 ARIKS
AGEL9q RIS KA

(C) 2R 06 RN TS T3 TR
QARIGE FMYIRAER F8l 699

(D) QSIS ANG

18, SIG1Q QIO ZIXIQ 2005 66 6@ Al
ERIG YUIGE SUAIRT ?

(B) @9ge
(D) Rl

(A) 2aefeqal
(C) 9o4

19. FQCIF-946 AOASE §F gRINERQ
QEg 6N KUCATS! Gl

AFGHEI, AR |
UEn0 @89, 9Ggng, gem 2GRS,

-

eFoY

(A) 0896, 0a5%, a6alId LHNGI, LHAL
=l

(B) 2Eien @G, AG9NE, OFTg, O6AIR
GBIl

(C) 9999, 9qgnd, RGO OIS, J6RIS
ZeE!

(D) CeQIAZGEG! AR, 9RFg, TGgae

16.

17.

18.

18.
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For education of girls, when did
Kasturaba Gandhi Balika Vidyalaya
establish in our State 7

(A) July2004  (B) August2012
(C) April2009 (D) November 2005

According to Namgayel, what is the
major aim of integrated education ?

(A} Ultimate goal being optimal,
academic, social as well as
personal learning of each child

(B) To transfer from a specific or
different atmosphere to a general
atmosphere

(C) To teach low and medium disable
child in general school

(D) All of the above

What type of education system does
National Curriculum Framework 2005

encourage 7
(A) Inclusive (B) Integrated
(C) Special (D) Regular

Arrange the following teaching-learning
materials as per their usability, in an
ascending order.

Acting, Excursions, Contrived
experience, Film.

(A) Excursions, Film, Contrived
experience, Acting

(B) Acting, Excursions, Film,
Contrived experience

(C) Film, Excursions, Acting,
Contrived experience

(D) Contrived experience, Acting,
Film, Excursions

OTET/P4:
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Which of the following is not a learning

20. G99 IR 69T 9@ JFE Iy 96% ? 20.
activity 7
(A) QORI 6RYEI (A) Essay writing
' er the formula
(B) 9@ agail Sye (B) Learning asp
(C) UM o7 (C) Seminar
(D) 784 @6l (D) Dancing
21. cdl&e GGI9Q 696 AV SHIQaE 21. The ability of ‘Seriation’ is thre
Q3Q1Q 286! 98 QIREI ? characteristic of which cognitive
stage ?
(A) Qsgaieies (A) Sensory motor
(B) 99 A°RIH (B) Preoperational
(C) 9% Iy (C) Concrete operational
(D) @@ (A)<="(B) (D) Both (A) and (B)
22. Geicae F9 IgAIER AR ERE geT §9a | 22. According to Piaget which of the
ge QRIdy adUIAER CRSIAIRaId? following shows characteristics of
“Concrete Operational Period” of a
child ?
(A) @46l Gar Qe and eaianaId (A) Unable for concrete thinking
(B) 9957 GRQI6 GIEY QURIBRIER (B) Unable to change thinking in a
ﬂﬁlﬂd reverse way
(C) 9¢a AMQ F8a6a FIA UAA AEQ (C) Starts to know about the existence
of objects
(D) PR Sl 2GR 26Q (D) Starts following
OTET/P- (8) (Continued)
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23. RIS HOR TR A6g AN FERYR
8197 6YRET
(A) ZIRST QR4
(B) &} Ques
(C) ¥R 96

(D) <AIRS @ 668 9L8
24. A ZANVD LFEA-20099 609 Ml
2GR, '¢7lad 399 4189 2g @ Aleda
Fdyies Grige aIF ?

(A) wliol 24 (B) 25129

(C) ul=l 29(2) (D) &=l 17(1)

25, TAUIAILE STVIER A FQEYS! 636R

95291 9109 geRIT K986 @ 91T RIE9
AR 696 GRIRS FRIBS SR ?

(A) G09qee (B) @aiRicR

(C) ueaIe (D) eAEIeS

26. GMIRAS eI 9P6UITISIER YOR LA

RG89 daue Gead! Ae® 909l Free
690 Paa Qe MLTQ FAELT ?

(A) 99€ISR1 3Qa8
(B) coane

(C) 6o&° e4n)

(D) 6@63T ges

23.

24,

prepp
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The Psychologist, who did not support
Constructivist approach, was

(A) Albert Bandura
(B) Jean Piaget
(C) John Dewey

(D) None of them

According to which Section of RTE
Act-2009, *No child shall be subjected

to physical punishment or mental
harassment’ 7
(A) Section24 (B) Section 29

(C) Section 29(2) (D) Section 17(1)

. Which type of evaluation needed to

know that the students are applying
the topics taught during working in a

garden 7
(A) Formative (B) Diagnostic

(C) Placement (D) Summative

. Which tool could be used to record the

details of a student winning in a school
debate competition ?

(A) Anecdotal record
(B) Checklist

(C) Rating scale

(D) None of these

OTET/P-l . .

(9)
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27. "9 6208 98 4919 FsR 98 B9

Qa" - &9 @R26m ?

(A) 697499
(C) ZIQ6RIon

(B) ealloay
(D) €1uUaER

28. 994 QI §&% 08l svad
(A) 9% Gha daa avd

(B) S8R dRINR-d4a4 08da aaaig

(C) 9@ 5T QI 6R669 SAIRIR 0ada
AR

(D) 9% 9919 84 a8%a AN

29. AWEANINS AUEE ERINR T8 9F
@ae AR 499 AR 99 aIBel 98e?

(A) 98 6 @1 98 e 9]

(B) egSew a4
(C) 8% @eaqewaq
(D) §Ga e9w qre 99

30. 9999 &4l 6AAR TYe QRIEIER
FARYE 66 26 g8 98 699 BIRGYR ?

(A) 6461 0w
(B) 484 @0eaé 4ol

]

(C) Fa4 aGEF aId 6RINR!
(D) Q06QIB NS

(A) Spensors
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27. “Education is the creation of a soung

mind in a sound body” — who said it 7
(B) Koutilya

(C) Aristotle (D) Sri Aurobindo

28. Activity based approach is

(A) A specific learning process

"(B) A collection of different teaching-

learning process
(C) A specific or cnllecﬁ_dn of some
teaching process

(D) A collection of differént types of
learning process

29. For developing creative thinking

among the students, which type of
questions should be asked bv the
teacher ?

(A) Open ended and subjective
questions

(B) Multiple choice questions
(C) Short answer type questions
(D) Closed-ended questions

30. Which of the following aspect should

be given importance while preparing a
multigrade teaching strategy ?

(A) Classroom organisation
(B) Provision of learning materials

(C) Planning for learning situation
(D) Al of these

OTET/P-
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31. 696905 qu? 35. 6RE QIRIfi® 296Q QIS ANIQ AEaAN
(A) FAIFRLED gea?
(B) QNIawAIGS (A) 9996 9Q0IQ TR
(C) zgRaIAgyEa (B) & 6oaa 2 aBe 0660
(D) PRI 6291 geRIE 98
(C) SISl AR TSI
32, ga-eq+a= @'a 699 ?
S fq (D) QUIRLNER UISREER BIF 9F
< (A) QEg
(B) gauqe 36. 626 296 §al 291, 4891, 0F<I 6
(C) daqe cRgel G0l 2dIe cRIQAN ?
(D) gaqe (A) Ge0QIR 97
33, aRId 691 B ARIGHIRR 696 QIO AR (B) Qe ueea
QAALER QRIAN ? ©) g
gt (D) geas
(B) Qe ) )
' 37. EORIQ 6QW SIGYER Qe GO SI6Q
(C) QuIRa8 Q4996 ?
T (A) 64 6QIT gaia Tal
(D) '?l%‘l [mli=] (B) 59q 9962 8
34, QaC QG99 geR, G909 gIRA 6 (C) 094, QB Gaee QA2
2IERIPY TTAA VSIS YU 696 6AAIRER (D) 2@ uge gag ML
QUM ? o g
38. 696 90 AT6 AN A9 9B QI QEF?
Wy (A) QEQRIR 09
(B) eagioe (B) Seamy
(C) qmilae (C) edaiR
(D) QRAAR SIS (D) G6aqe
OTET/P- (11) (Continued)
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i8] QRIS BRI

b

e . SqAe0 698 @
39. €QIFETIAG JRIGE 69 GRIG 43. @REO 699 ¢

2
FRUISRER TEABRICE QISTE 62REIN 7 9 ﬁg‘““#'
(A) @0=a 90
A) 4QQIR
? (8) 9977
(B) SOR €59 () 908 0aY
(C) engges (D) 8alaqsl
(D) QAgal ees! 44, BARYE AR 6FEE 19 6AEH R 26E 7
(A) 4%
40. 594 6966 9digRa IR R 26T ? (B) W
Sod (C) A9
-(A) gOY8 wwiad 8 con
(B) 999 QAQIQ 2GS o -
PR6RTE QIO 92 FIRYE J99eaa (99 &
(C) saags Q0w Agia gare 454 49 adie) 999 08 :
(D) @Qece ana AeIEl Q9 28 - LANER Teg NS

ggolg 998, A UMQ @IKYER 6318
6FIQS! A90IQ AP | AR QEQY 94 59l
@0Ql 958 | 2640 94 @09l 958 2w, 69

41. QI8 3910 gRAISIEH CRAGE
QIgeIen Fl AAQ 2ISMS ?

(A) RAse 6 a0s o oy

QEL Q0Ie PRl VIR ARG TAIQIR FIF | A
(B) @%406a0F <

(6 G2l QAUGER AIRSD FJuiF —QIRSIAIR 42
(C) @arBgeq 09N RAa | @ HR0I6a e121 geals REe!
(D) =@ Ea0R 99 §6¢ | ZIQI0IER GeRIT KARI @ SI21

4% o 786 99 - 699 gRIR 988 giqe RLC | A1FI O S0 FESIF Ayaa

ARG 26T ? 08 9994 21204 *0QI§ 699 | 6918 6HIF
(A) @1d @8R FRe ImaIG G RICa, Bg gaa 21eedss 2Rl

Ade 41 fg Aga cala eiaice; B3 Aga

(B) 99 @eQ v S99 6aIR OIR IgR Qe AR ageee |
(C) egha 999 W AB6R gea ol ged ged
(D) 6@edT ge% o
OTET/P4 (12) "7
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45. E@%ﬁ‘ @ﬁﬂia JoI0 GAQIR SR ZIRg 50. Q% 6961 2ITER, 6069 2I6A §a 62¢’
VAR e — 121 699 QRIRA QIR
(A) 2RYQ 96 959 ade (A) QR
(B) zqie @idies sQ1@ cadine! (B) 99@
(C) URYR 691 6HTIES (C) &4iG@
(D) 6199 6218 cHIBIER (D) @9590@
46. 6RGYER 217 AR 6RIVAN ? 51. 60 9ed 9@ 216g ?
(A) 99 Q& QB (A) ggsi
. (B) 949 aLadss (B) 998l
(C) =9I G IRl FRSIER (C) 4gal
(D) F@e Of 86 @ 6859 (D) g
47. TARER 93019 9IA V6 ? 52. gg: ?*i'ﬂel 696 996! QU6 Fea
(A) ORI 69 A 48
(B) Q6 Q2R B
(C) Gag Rl
Ql
(D) @icy Qi ©) ®
(D) sgs!
48. GEAQ @4 2ILRE FAEN ?
~ 53. @PUO0R FIN V'€ 9497
(:" :u‘m (A) 2F ANGER 2R 9FTI
:‘C; 499 (B) U9gSI IUACR NIFLE Q2@ §9
(D) AR (C) 4QIgel @ APIRd CRSIQ 2RQTE Q6T
(D) RGN ATG P4
-, S 54. oo 890G 98 Zideq ‘X gesa B6e ?
(A) QI 0IQ @@l ) o0
(B) @99 218l 0Ig Qg SIS (B) oG
(C) 6ge 628 cHIRQl OIf FIga ga S1Ra! (C) a2
(D) Fig% 6918 68T O1Q Aga g8 AR (D) ¢98
OTET/P4 (13) (Continued)



WWW._prepp.in

prepp

Your Personal Exomes Guidoe

i

SET - @

55. G08 AUQ 694 997 ‘Aga'S 57. QeRIe @I7?
QURIGIEEING 6% 26T ? (A) ARG
(A) &AIeq @) oRl
(B) @@
(C) el
(C) <8@ )
(D) &3aey (D) &9
@a0Icg OF ° 56 @ 60 adiz g49eee 58. @Iglq 66 &5 2@d QQRIde SRR ?

Qe QY :
SRE-2QE-RNE G191 ToQR

(A) 991@6eRaT

SAQIg 661Q 93 63N AYRAe, (B) eadig
ANOR-TFUQ, ARIRP CA6T (©) 989
SIRF-A17 62N 76T RYEIRT |

QRIRIG 69Q Q5 9910 AR (D) egeg
ARaa 42064 67T S9AR,

a Y = =
o1 ﬂ'?m Efw e 59. QRIRIg @4 60Q @8 AR\ ?
QI8 GRIQ A AITER 99 |
Qed! @Rsd QIET IRT FEIT, (A) 9912 QAR
ARGD FRFIET @ gm0, (B) 790 F268
Qg 9g F1LIe9 A 816 ¥
Getane Z1el 68e-A80 | (C) AT IR
JORISI TR CR6e 968 D) eei Gen

goan caIpgRI gRIST S18Sl,
AR 6291 AIRSTE 7] ARAEE

QORI QI FIER B6R 6268 G | 60. @IRIR FLREER FgAR 6AIEE eeRYw ?
56. 46019 A86? W) (69
(A) @0 ene (B) GRia yfa
(B) g (C) FIgee 3ea
(C) e @8ea R
(D) @g@geieQ (D) Jee aaea
L —
OTET/P-l (14) (Continued)
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§1. Which is not a method of teaching
English ?

(A) Direct

(B) Story-telling

(C) Grammar-translation

(D) Bi-lingual
. Which method is used while teaching
grammar ?

(A) Explanation

(B) Comparison

85. To locate a particular fact in a Text is

known as

(A) Skimming

(B) Scanning

(C) In-depth reading

(D) Inference

Which skills are productive ?
(A) Speaking and reading
(B) Reading and writing

(C) Speaking and writing

(€} Inductive (D) Writing and listening
(D) Exposition
67. Which word is used as the post-modifier
63. Which one of the following sentences in the Noun Phrase of the following
is correctly punctuated ? sentence ?
(A) Wah, what a shot? The weather today is very fine.
(B) Wah! What a shot? (A) weather
(C) Wah! What a shotl (B) today
(D) Wah, What a shotl (C) very
(D) fine
64. When my little daughter came back
from school yesterday, she 68. Our classroom by
her dress. tomorrow.
(A) tore (A) will clean
(B) teared (B) will be cleaning
(C) torn (C) will have been cleaned
(D) had torn (D) clean
OTET/P-l (31) (Continued)
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69.

70.

71.

72.

73.

Reading aloud helps in
(A) Pronunciation
(B) Comprehension

(C) Sense grouping

(D) Pronunciation and sense grouping

Major focus in poetry lesson is
(A) Comprehension

(B) Music

(C) Appreciation

(D) Recitation

Correct articulation is required in
(A) Listening

(B) Speaking

(C) Reading

(D) Writing

Receptive skills are also called as
(A) Active skill

(B) Productive skill

(C) Passive skill

(D) None of the above

The day was

(A) hot humid and tiring.
(B) hot, humid and tiring
(C) tiring, hot and humid
(D) ftiring, hot humid

i

reanal Exgmes Gu
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74. A number of children from
cold.

(A) is suffering

(B) are suffering

(C) has suffering

(D) has been suffering

Read the following passage and choose
the answer that is closest to each of the
questions (75 to 79) that are based on the
passage.

Does everyone like early rising ? The great
advantage of this is that one can start one's
work long before others. He does a large
amount of hard work before other men had
got out of bed. The mind remains fresh and
no sounds or noises disturb our attention,
One takes some time for exercise in the
mormning air. It supplies him a good deal of
energy and enables him to work hard until
the evening. It should be one’s habit as he is
an early riser, he does his work thoroughly.
The hard work makes him sound sleep. This
habit may be boring but gradually it creates
a new zeal, a sound mind and body, willgo a

long way. Therefore, to be success we need
to adopt early rising.

75. What is the advantage of early rising ?

(A) for a better sleep at night
(B) to get great deal of money
(C) to break the boredom

(D) to start one’s work long before
others

OTET/P4

(32)
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76. What is the mind like in early morning ? | 81. Which of the following is grammatically

(A) lazy acceptable 7
(B) hard (A) The injured were sent to hospital by
(C) fresh car last night.
(D) boring (B) The injured were sent by car to
hospital last night.
77. The passage beginswith ______ (C) The injured were sent to hospital
sentence.

(A) Imperative last night by car.

(D) The injured were sent last night to
(B) Exclamatory

hospital by car.
- (C) Interrogative

(D) Declarative 82. When decoding is required ?
(A) Reading
78. What does exercise provide with ? (B) Speaking
“(A) Energy (C) Writing
(B) Sound sleep (D) Listening
(C) Money
(D) Rest 83. What does a child enjoy at the time of
reciting a poem ?
79. What is the opposite meaning of (A) Rhyme and rhythm of the poem
‘enable’ ? (B) Its Music
(A) unable (C) It's Idea
(B} disable (D) Both (A) and (B)
(C) suitable
(D) none of these 84. ltis unigue opportunity on my
part to present the Annual report before
80. All the students agreed the you.
programme of the examination.
(A) to e
(B) on (B) an
(C) with (C) the
(D) in (D) some

ET/P4 (33) (Continued)
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85. Naresh is very hard working
he is really not intelligent.

(A) and
(B) yet
(C) still
(D) but

Read the following poem and choose the
answerthatis closestto each of the questions
(86 to 90) that are based on it.

Weavers, weaving at break of day,
Why do you weave a garment so gay ?
Blue as the wing of a bluebird wild,

We weave the robes of a new-born child.
Weavers, weaving at fall of night,

Why do you weave a garment so bright ?
Like the plumes of a peacock, purple
and green,

We weave the marriage-veils of a queen.
Weavers, weaving solemn and still,
What do you weave in the moonlight chill ?
White as a feather and white as a cloud,
We weave a dead man's funeral shroud.

86. What do the weavers weave in the early
moming ?

(A) a bright blue cloth
(B) a dull grey cloth
(C) a soft white cloth
(D) a red-coloured veil

87.

gul

(B)

-(B)

prepp
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The is purple and green
coloured.

(A) dress of the weavers
(B) dress of a new born child

(C) the queen's marriage veil

(D) the robe of a king

What do the weavers weave in the chilly
moonlight ?

(A)

a garment light as a feather

a garment meant to cover a dead
man

a garment to keep away the chill

a garment to wrap a newbom
child in

(C)
(D)

The three stages of life mentioned in
the poem are

(A) infancy, childhood and senility
infancy, youth and death

infancy, adolescence and
middle age

childhood, adulthood and
senility

(C)

(D)

Whom does the poet address in the
poem 7

(A) weavers
(B) children
(C) queens
(D) all the above

OTET/P-
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@@G’f MATHEMATICS)

g1, 1@ 984 YLRTR 6AUTI 6IE 165°
626M, IR QT AW 62657

(A) 30
(C) 18

(B) 24

(D) 15

g2, IR LS G AAIR AT (1) 2
G848 691G 691Q G 69ITY ARG SR,

Q@ 041 CAININIR 9R 990 Q6m, 989
QUIAIS 66 629?

(A) r

(B) 2r

r

€ 3

(D) 4r
93. Teleew FOEGAEY 6FIRQ IS

698 Qdyase 99 THWIGFS BRG
@reR @EQl QI RS ZIQA 68 ?

(A) QIR
(B) Q| I
(C) g @i
(D) geige a QI

91.

If an angle of a regular polygon is 165°,
then the number of sides of the

polygon is
(A) 30 (B) 24
(C) 18 (D) 15

A solid spherical ball is prepared by
melting a cone and cylinder having the
same height and same base radius
equal to r. Then the radius of the sphere is
(A) r

(B) 2r

© 3

(D) 4r

According to Piaget at which period of
cognitive development a child starts
to speak or write the numbers in a
reverse way 7

(A) Sensory-motor

(B) Preoperation

(C) Concrete operation

(D) Formal operation

Qe @I Q6! QI / SPACE FOR ROUGH WORK

OTET/P4
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94. S80S AVAIFER MLYS CREE IR G
T6BAE QAR08 2I6E ?

(A) eaEieqt
(B) eowdg
(C) onvg
(D) s<ladT gest

95. 66 ABMIG 5, 7 8 9 FIA GAS W6
WG RER, SIGIEAT AAIFEA 3, 6 4 2 92Q?

(A) 93 (B) 85
(C) 83 (D) 75
96. ?‘“"" QST B 6RW ey 94 TSI
SwIgy?
(A) 586 (B) 687
(C) 769 (D) 96 11
97. "AAYG! 62T 9F 6 2168 A -
PRT QIea?
(A) 9. 969
(B) SIS1E QOIS BIRIR — 2005
(C) adeoeR

(D) ereas @& sagdee

94.

prepp
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In teaching mathematics, which of the
following is used as a non-projected

aids 7

(A) Domino

(B) Ray diagram

(C) Films

(D) None of these

Which number, when divided by

5, 7 and 9 separately leaves remainder
as 3, 6 and 2 respectively ?

(A) 93 (B) 85

(C) 83 (D) 75

248-1 jg divisible by which of the
following two numbers ?

(A) 5and6 (B) 6and7

(C) 7and 9 (D) 9and 11

Who said, "Brevity is the soul of wit" ?

(A) L.Bers

(B) NCF - 2005

(C) Thomdike

(D) English poet Shakespear

O Q1KY QIR AL / SPACE FOR ROUGH WORK

OTET/P-

(36)

(Continued)



WWW prepp.in

G4 0609 THIS Y90 QUaT Zig)

cRREEA?
(A) 69INS E9QQ

(B) IR E6TLA] 6
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98. Who said that Mathematics is
the queen of sciences’ ?

(A) Roger Bacon
(B) Carl Friedrich Gauss

(C) UL (C) Archimedes

(D) Sgo 6uaT (D) Shakuntala Devi

BRG STHEe 999 wsa dae 99. Followings are some questions posed

Q86 654168 UGIRER | by the teacher in the mathematics

~ class :

(i) 69ICN UNSEAGA 69T QIg 5 6@ (i) Whatis the area of the rectangle
(3 98GR 30 64T 626%, U9IR AR whose one side is 5 cm and
6960 6297 perimeter is 30 cm ?

(i) AN SRR 9Le |9

(i) Find a set of numbers whose

CULRISER FRICI 4 263 | median is 4.

(iii) 0-8 FIUER QI ANB 67IIRF QS (iii) List all prime numbers between
EmS | 0-8.

(iv) 2190688 VA6 &Y cI6ad (iv) Tell anything mathematical
QISIce gorl @2 | information you know about

rectangles.

(&) (), (i) 6 (i) 3&a eaq gea e (V) (A) (i), (i) and (iii) are closed ended and
e @80 Fee 94 26T | (iv) is an open ended question.

(B) (i) 3%a eea gee 9e° (i), (i) 6 (B) (i) is closed ended and (i), (iii) and
(iv) e e @@ 99 6T | (iv) are open ended questions.

(C) (i) @ (i) FRa eaq Fea 1e° (ii) @4 (C) (i) and (iii) are closed ended and (ji)
(iv) g8 eeQ gre 99 26T | and (iv) are open ended questions.

D) (i) 6 (i) F5a a8 e e (i) 6 (D) (i) and (ii) are closed ended and (jii)
(iv) g0 @aQ e 99 T6S | and (iv) are open ended questions.

Qq @154 QIS €IS / SPACE FOR ROUGH WORK

OTET/P4
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100. 98¢ G848 gHasa RVG 9@
UGN B9 QI6S IR FQIDINE 7

(A) @ (B) @g
(C) QiSegem (D) dmig

6.25
J0.625
(A) 25
(B) 25110
(C) 25

101. o AIY EREE7?

(D) 25410

102. 6qIGq QR & A98 gdaay, &R
USSR A0TQ 4 98 A1 AAE | AWIeR
g9l A 9RCa AR SEFIR ERYER, BgR

QUIT 1216 AT AT 666 4 a9

prepp
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100. Which are accepted as essential part

101.

102.

of the mathematics learning process 7

{A} Errors (B) Numbers

(C) Calculations (D) Theories

6.25
What is the value of m?
(A) 25
(B) 25V10
(C) 25
(D) 2510

A two digit whole number is equal to
4 times the sum of its digits. If the place
value of both digits is interchanged,
how much times the value of the new

QaAIR 68Q ? number will be compared to the sum of
the two individual digits ?
(A) 3 (B) & (A) 3 (B) 5
(C) 7 (D) 9 C) 7 (D) 9
Qe QIY QIS AP / SPACE FOR ROUGH WORK
OTET/P-I (38)
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03 15 9 V10 966369 627 103. The value of /10 times \/15 is
equal to
" V5 ") |5
(8) 56 ®) 58
(C) 1045 ©) 1045
(D) 65 (D) 645
104. >< /\>< 104, /\
X XX
R 0gTea 6REEIT goan Bm Bg ? How many lines of symmetry are
present in the given diagram ?
) 3 (A) 3
B) 4 (B) 4
(C) 6 (C) 6
(D) 12 (D) 12

Qe QiKY a1l QIR / SPACE FOR ROUGH WORK

OTET/P4
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105. 8, 48, 16, 96, 32, 7

i
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105. 8, 48, 16, 96,32, ?
IR UFIAER Y1 ‘Y FIFER 6R6! @Yl What is the next term in the given
QEe? series 7
(A) 192 (B) 150  (A) 192 (B) 130
(C) 58 (D) 288 (C) 58 (D) 288
106. 106.
Q8 98 6RY 6T 6540 T9R F1gl IR The given pie chart shows the spending
e Gaa oden cRIQYS! @oq agaIeg for a country on various sports during a
dieg | 99T oiel 9RRI68 25 6UR6S particular year. How much more percent
6960 B9 & 621087 is spent on hockey than that of golf 7
(A) 27% (A) 27%
(B) 35% (B) 35%
(C) 37.5% (C) 37.5%
(D) 75% . (D) 75%
Qq Q1Y ISl AR / SPACE FOR ROUGH WORK
OTET/P4 (40)
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107. 966 8RIEIR 606 QEag adisend

90, 62 9ORIRIR 68 @ ged G
FRATREH ?

(A) ds4 age

(B) 2@6ge€Ige naea
(C) 69gQ aaq

(D) @osale ang

108. @4 QAEH 191 ARIER daIRIe
@Rgear

(A) 62991 AINYEER G
(B) %eq
(C) Tqea wa4q

(D) <AIRE ARIQ 69T g28

109. 12 Q. 40 00q Qn0ea agiaal 3
f7Q @9 FRISE 6R16a TS 62607

107.

108.

109.

prepp
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During observation which of the
following characteristics could be
decided that whether a learner is
gifted or not ?

(A) Learning characteristics
(B) Motivational characteristics
(C) Leadership characteristics
(D) All of these

Who first introduced play-way method
in teaching 7

(A) Henry Caldwell Cook
(B) Skinner
(C) Finlay Johnson

(D) None of these

What will be the degree measure
of the angle formed by hour hand
and minute hand of a clock at

12 hrs. 40 mins. ?

(A) 120° (B) 135° (A) 120° (B) 135°
(C) 140° (D) 130° (C) 140° (D) 130°
Qg QIdY €I AR / SPACE FOR ROUGH WORK
OTET/P-i (41) (Continued)
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110. Q109 QRO Q19 QWY 11 6269,
10 Q4 Q"G 6R60 6207

(A) 88
(B) 44
(C) 36

(D) 24

111, 266 6QIRIT 99 9918 9IRQ 100 g T8
G. 18 3. 13 @06 @d 7:3 AGUIGER

aaeeq | fige omig 100 ga &a
@ 1815 FQIG6a FR6R, SIRD 6969
J09G! MIR 689 ?

prepp
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110. What will be the number of diagonals

111.

of a polygon having 11 sides 7
(A) 88
(B) 44
(C) 36

(D) 24

A shopkeeper blenas wo varieties of tea
costing ¥ 18 and T 13 per 100 gms in the
ratio 7 : 3. He sells the blended variety
atthe rate of Z 18.15 per 100 gms, what
will be his profit percentage ?

(A) 8% (A) 8%
(B) 12% B) 12%
(C) 15% @ 5%
(D) 10% (D) 10%
Qe PISH IS 9IF / SPACE FOR ROUGH WORK
OTET/P-
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112. .
.ﬂﬂ}_?hh
R
QR 0G6%, PS, 4P @ QAFH4ES, PQ, QS G
SR § AP 9F GF6Q ARIREM &4 6277
(A) QS,PQ,SR (B) QS, SR, PQ
(C) PQ,QS,SR (D) SR,PQ,QS
113. 0.23 +0.23 =7
(A) 0.485
(B) 0.465
(C) 0.465
(D) 0.4654
114. Qe 90 22% QQASIQ 9@ Fe9

cleRa g2l 98 T 671 62AI | 6661 9N
259l gog 1e QeiR SIRRa Q| 6R66 gmI?

112.

13.

114.

prepp
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P
SN

Q S
In the given figure, PS bisects £P.

Arrange PQ, QS and SR in ascending
order of their length.

(A) QS,PQ,SR (B) QS, SR, PQ
(C) PQ,QS,SR (D) SR, PQ,QS

e

30° 7

0.23 +0.23 =7
(A) 0.465
(B) 0.465
(C) 0.465
(D) 0.4654

Increasing the rate of rice by 22%, the
new cost of one quintal rice becomes
¥ 671. What was the cost of one
quintal rice before hiking of rate ?

(A) T498 (A) T498
(B) T515 (B) T515
(C) T545 (C) T 545
(D) ¥ 550 (D) %550
Qe QI QIR FIF / SPACE FOR ROUGH WORK
OTET/P-l (4-'::‘]' (Continued)
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115. 600 Q856Q 2RdI AN ZIRA 48 K&l 115. Which method starts from unknown to
QeNEa AeEaIg 9497 reach at a known fact ?
(A) EleUR (A) Inductive
(B) uasaia - . (B) Deductive
(C) <6494 (C) Analysis
(D) @eaa4q (D) Synthesis
116. 30" @QIRAd Rl 9@ ARIRE Faag 116. It becomes difficult for the learners

98QI TRNIRE IR FIIR CRAR2AN | 4D

. ] to understand a general rule without
JEE AVINNG 69N VTN 9@ §F 26C?

any specific example. In teaching

mathematics, it is a limitation of which

method ?
(A) aiequg (A) Inductive
(B) aQsaie +(B) Deductive
(C) Teqa4 (C) Analysis
(D) Q6484 (D) Synthesis

Qe QiKY QIR VI / SPACE FOR ROUGH WORK

OTET/P-
@4 (Continued)
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117. 6QIGN QI8 941 98 Qsies 3 G6g
dIgEl FIEN | A8 QIF 1261 6ReR 299

NG OR SRIAINAN, 6969 ZTRITER

QLT LMK AAD 261 6267 gge A
6REE?

(A) 2919IG 20 6Fg
(B) 261 91§ 10 6dg
.(C) 191913 20 fFq
(D) 191 @@ 30 65g

118. A D
P
Q
B C

@& 5E6Q ABCD IR ZIRG6RE 9e” 9% 689
6 6QIT ALAF 2INCARY 678 S0V | ABCD
Q 6EQTR 96 @ 6Af. cwem, 4RIQ
QAQAIA 667

(A) 40 6af

(B) 36 6Qd

(C) 48 6a@

(D) 96 ¢ad

prepp
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117. A wall clock gains 3 minutes time in
every 1 hour. If it is set at right time at
midnight and shows at time of 2:00 pm
later in the afternoon, what is the actual
time at that moment when the faulty
clock shows 2:00 pm ?

118.

(A) 2:20 pm
(B) 2:10 pm
(C) 1:20 pm
(D) 1:30 pm

A

P

Q

B

C

In the given figure ABCD is a rectangle
and it is formed by 6 congruent
rectangles. If area of ABCD is

96 sg.cm. Find its perimeter.

(A) 40cm
(B) 36 cm
(C) 48cm
(D) 96 cm

Qg @IKY QIR VIR / SPACE FOR ROUGH WORK

OTET/P4 (45)
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119, m 119
Al— O B A m B
c D
i P
@8 9969 0 986 626 | DA=CD 626R, In the given figure, O is the centre of
£LCPD o 99q14 6q6g ? the circle and OA = CD. What is the
measure of #CPD 7
{A} 45° [ A:I 45°
B 307 (8) 30°
(©) 70 (C) 70°
(D) 60° (D). 60°

120. ABCD 9g§i@a A, B, C 8 D 6914 9890 120. Ifthe angles A, B, Cand D ofa

AgaIe 3: 7: 6: 4 626%, ABCD 4@ quadrilateral ABCD in the same order
are inthe ratio 3: 7 : 6 : 4, then ABCD
isa

(A) QIede og (A) Parallelogram

(B) g4 (B) Rhombus

(C) giaGen (C) Trapezium
(D) 20eog (D) Rectangle

Qe QiKY QI QIR / SPACE FOR ROUGH WORK

OTET/P-i (46)
(Continued)
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@E‘.ie@a QRIS / ENVIRONMENTAL scusuc@

121. 6969 G 69R0KA w80 e6ga
AHEIARER FRUR AR, UINQ DS

910 GAUEF QLS 6P
(A) eto¥, Q@6q

(B) ®to9 ofag
(C) eto9, gag
(D) ec¢e9, qedl

122. ¥FIQ0Q @89 il
RTER GG |

(A) 2ag

(B) @aIee

(C) aiRa

(D) DERIP 6FEAT ges

123. e QG699 2vIARA JYE Z6gRd

QR0 IR QORITE! g6E ?

(A) TuAier Fe@ G2N Q° gAId 6HIE
2geEs 0] @ 9a F9I08 @3 |

(B) Gainiee 4@ 0adea cGeke anaul

121.

122,

123.

The word Swaraj was first used by
Dadabhai Naoroji in the Congress
session held in at

(A) 1904, Bombay
(B) 1906, Calcutta
(C) 1907, Surat

(D) 1916, Lucknow

The northern most range of the
Himalayas is known as
(A) Himadri

(B) Himachal

(C) Shivalik

(D) None of the above

Which of the following is not an
advantage of nature research method
of environmental studies ?

(A) Children determine whether the
hypothesis is true or false by looking
into the evidence on their own

(B} Children develop the ability to find

QRIS QAN Eﬁil'ﬁﬁ'lq e AR ways for solving everyday problems
Qaa! in this method
(C) 4% 0o 28 Qna, 28 6 abgaea (C) This method helps in gathering
2@ G8N Q°geca QR84 | more data with less time, money
and effort
(D) 9@ 988 AAcR JNAIRTY CIEIRQ (D) Children’s scientific or inquisitive
AIERIGE QI A6RAE ACRIQE Q6F | attitude increases through this
method
OTET/P-" " (Continued)

(47)



WWW._prepp.in

124, Q906 R4 960 AGE 2RIOGST
I0R cgd1ea afsean Gen 9Eel aaca

UPRIEAIN @R 9o 6aBag @eoIq
9a8d ArIAse  QEwm

FRUALE |

(A) 999

(B) agysema
(C) Qeagd

(D) 996 26788

125. @4 219 Qfiaee B8 YS9 ? 125

(A) RaR
(C) iadal

(B) <omia
(D) QuIP ASS

126. CEIGQ QIS BFARGER @9 TEANE 126.

ZIRe 996 98 sAAR@I?

(A) %9 0N 9" ¥ 60
(B) 9 Ga4e° 9%
(C) 9MeA06 9% ea

(D) 9N G696 9% 69

127. caw 4G9S €1966,“ANRS IO, 127.

AT TRER 99 AN CaEZER
daidinieg SR AgHP cAININETS
@eq 1”7

(A) @906 0aeRq

(B) (oconaR 99" QRG

prepp
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124. Atthe lowest level of learning,

environmental studies emphasize
different environmental skills in
different classes and these skills are

acquired through method.

(A) Project

(B) Observation
(C) Survey

(D) Exploring nature

. Who is the final interpreter of our

Constitution ?
(A) Judiciary
(C) Executive

(B) Government
(D) Legislative
Panchayati Raj Institutions came into

existence under which Amendment
Acts ?

(A) 42" and 43
(B) 86" and g7th
(C) 63 and g4th
(D) 73 and 74t

According to which educationist, “Social
Study a programme of social science
should provide the students with a
variety of experiences” 7

(A) John O Michaels
(B) Ochicholson and Wright

(C) 9] 6eqE (C) John Kendi
(D) sRgw (D) John Dewy
OTET/P-l (48)
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128. SIRYC 699 qug et qan 128. Which of the following characteristics
ARIWIR-I8E ARG Gree Hiesug qee? is not required for good teaching
= learning method ?
(A) 99 IRIAINS Quee ZIGEYaE A) Itmustinculcate fundamental values
(A)
(MIEAR BE9R *6Ql ade in children
(B) €96 @ERENYL 6 Q199 629l ZIRale (B) Learning needs to be purposeful
= ) and realistic
(C) 49 990Qa 991a8 Q1 gade (C) Itmust emphasize on teacher's test
waea YR seme or performance
(D) QRIIee QI 2eqaq, ean aeRIas, (D) Opportunities must be created
9686 6 § qeHafe geaIa 9§ for children for self learning and
P0Q 2R self evaluation and to explore and
present the information
129. 6R6S TRIF QA AAY PIRGIS G6¢ ? 129, Which of the following does not include
the aims of the science club ?
(A) CERIGR AEQIQRQ GQI8 ARG QI | (A) To develop the scientific bent of
mind
(B) @8eq 699, 9g, 99, (7 2ATa AN (B) Preserving samples of plants such
63RIRG Q8T 0T S8 A | as roots, leaves, fruits and roots in
a scientific manner
(C) 69RA% F19R6Q QWIRE T6aIS (C) To develop skills to apply science
QEGIR SRIE *5S! | in everyday life
(D) TRIAIGG FRIER TLIELRY, TAIEE (D) To develop skill development
gIIG QAGIC QFIE ARIF KA | tools in children like observation,
experiments etc.
130. GRIQIG- 98¢ G8F, QIO CAIFRIER 130. Teaching — Learning method
2069 699 @IdueRIg dra? included in the lesson plan refers to
which of the following activity ?
(A) -FRIQIe- GA4 QIR 9GO ISR (A) Teaching — the preparation of
instruction for learning
(B) FmiQie - 494 AA0Q AGeIRl (B) Teaching - learning time
management
(C) Qe - S8 gaqs 9aal (C) Teaching — after learning process
(D) edle@s Egﬁ' (D) None of the above
OTET/P- ™ (49) (Continued)
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131. QIGGR QIRACET FQEEA ARIZHEAIG 131. The procedure of impeachment of the
YR 698 YT FI0 SRUARAIG? President of India IS
(A) ®uSe 9Fal (A) Judicial Procedure
(B) z=qude ggul (B) Quasi-Judicial Procedure
(C) QuIv Aae 9aal (C) Legislative Procedure
(D) QMU GG (D) Executive Procedure
132. QQQ 600 QINIER GIF Sg6a 132. Which one of the following states
3 = receives the highest rainfall during
Q6q1e Q818 §4°? itar BHAGONE 7
(A) PR (B) eaRUE -(A) Mizoram (B) Uttarakhand
(C) ofieqg (D) a9 (C) Tamil Nadu (D) Bihar
133. QdY AR SI96a 133. An equinox occurs when the sun is
QD69 QF6R, ANTAAIG T4 | vertically above
(A) 90 Qe (A) Tropic of capricon
(B) @< g8 (B) Tropic of Cancer
(C) &nQ (C) Poles
(D) Tge €l . (D) Equator
134. 6060696% 6@16d 99 991 48] 92 | 134. When an object falls freely towards the
QUIEA U6Q, 6ACTEIER YLIR AL earth, its total energy
4960 @ adeee g7
(A) 2<9%9 (A) Decreases
(B) Qa6A 9F QIR 96 214 AId (B) Firstincreases then decreases
(C) ¥a o@an (C) Remains constant '
(D) & aLaM (D) Increases
135. FRGe 9RaIgPe AUQ 6RET 6AI0R 135. Which among the following processes
QRREIRa 1@ QQITAE! ? is an example of physical change ?
(A) o8 T (A) Burning of fuel
(B) @0 63q40% F69846 (B) Electrolysis of water
(C) q'u'gﬂm i -(C) Dissolving common sugar in water
(D) @waeq (D) Ripening of fruit
OTET/P-I (50)
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136. IR QR ° @QI9gA 9B ¥ F/ea Q

(/69 Q SPIREN 1 9RITIRN 6760 ThFAIES
Qi QAde 99 ?

(A) T g%
(C) 7% gn

(B) M9 g
(D) ®2 g

137. 898 A/IQ 66T 688 adien eFlaaa

6559y gea?

(A) 1SRG Q1L 2ZHE GAIR F6Q)
Y9° 996 999 2469 QL F6E. |

(B) =1 M€ GOEIER 2RI, AEAGHE
928 @6a |

(C) 426G 080 78 g9Ie a6R 98"
QIge EGHT 9UIQ V6Q |

{D}"' <gl BRRIRGS 659 919918 Bl
Q6a |

6990 05699 A 9ER 49 QI8N
Q6% ?
(A) @ qeil

(B) 9© @9°e 9F

138.

(C) 91969 aneq A9UEIT

(D) 'AIE A199Q PR QL0

136.

137.

| 138.
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A force increases the speed of a
1 kg object from 4 m/s to 8 m/s.
The work done by the force

will be
(A) 84J
(C) 24J

(B) 32J
(D) 16

Which of the following is not a
characteristic of field tour technique 7

(A) It provides real experience to the
learners and helps in understanding
the learning material

It takes more intuition in leaming
situations

(B)

(C) It provides relief from the rote
learning method and provides

realistic experience

#
pw

(D) It develaps children's complex

emotions

Which is not a factor for creating
environmental problem 7

(A) Forest fire
(B) Rapid population growth
(C) Utilisation of natural resources

(D) Heavy use of vehicles

OTET/P! (51)
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139. QqRYE AuR 6o4 w&e o SRNGER

09 AQIe 2esaIgg Q" AgRR QIR
QI AR FQE 2eg ?

-(A) edla
(C) saGaq

(B) vindan
(D) sqieg

140. QIRIG 69199 6T6ag QRIAN ?

(A) eai® gioa
(C) QURSRIERIA

(B) fiseiegz
(D) &

141. 98&e 9e° 2Vaiaca A o qg

6R6C SRR 8 9g ?

(A) 98aie

(B) eneaeqs”
(C) gfm euase|
(D) agaiE

142. 39 kI 6900 QIGER ATNG AE!
QEIAIIST QU? -

(A) FRIgEDS!
(B) G@al
(C) 2ggsad
(D) eeaw
143. TAT99 Q Yy '6?

(A) 219698 dalg

(B) €9106a 997 99186 pH Faad
(C) AIrdead! AR Faad

(D) 9IT% IFQ TEGER G,

139,

140.

141,

142.

143.
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The mineral essential for absorption
and maintaining balance of body

fluids is
(A) Iron (B) Caleium
(C) Sodium (D} Chlorine

Which is called as the power house of
cell ?

(A} Cell wall (B) Mitochondria

(C) Ribosomes (D) Nucleus

What is the major source of water

for rice cultivation in Punjab and
Haryana ?

(A) Rainfall
(B) Irrigation

(C) Availability of labour
(D) Humid soil

Which state among the following is the
largest producer of chilli in India ?

(A) Madhya Pradesh
(B) Qdisha
(C) Andhra Pradesh
(D) Kerala

What is the function of phosphorus 7
(A)
(B)
(C)
(D)

Development of bones and teeth
Regulations of PH of body fluids
Regulation of Mmuscle contraction

Role in transmission of nérve
impulses

OTET/P-l

(52)

(Continued)



WWW._prepp.in

g

4. iR 9Q° U0RAE MYeaia gqe
AR G @6 PISEG?

(A) WeFq @
(B) @eFq @
(C) O] &
(D) AR ‘6a"

145. G699 BUDGA QYN 9'@?

(A) QEcaaq MES
(B) 056999 @R6 AUG K6Q!
(C) TREEa BAIRING SFal

(D) 956249 939l 0 A"A8E IR 6oF
QaQ!
146. 69 dRAIGTS AGced g% aIge
Q8 QRRI T7168 1@ O’ 2667
(A) Gaig OFelg 9F 6QIAIRS!

(B) GnIg 99 aedel
(C) TRIG VG FERAETS
(D) TR UEAR QTS FFS 691G,
gaeIg, 63RAIg 699
147. §q gefie HFaig a0R 76
6 |
1, §IAgQ g9 AT
2. 99R 08 99 @9 @89
3, BIGTR 2IQIe0 9RA 4GS
4, OB AR TR AVDG! JIg G498 909!
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144. Which is necessary for the utilisation

and retention of calcium and
phosphorus ?

(A) Vitamin ‘A’

(B) Vitamin 'C’

(C) Vitamin 'D'

(D) Vitamin 'K’

. What is the purpose of environmental

studies ?

(A) Knowing the environment

(B) Improvement of environment

(C) Identifying elements of the
environment

(D) To understand and try to conserve
the environment

. The way to develop children’s

interest in the environment is

(A) Providing books for the children
to read

(B) Asking questions to children
(C) Taking the children for outing

(D) Let the children see, touch and
play with many real things

. Arrange the following First Aid sequence

in a correct manner.
1. Restore Breathing

2. Stop Severe Bleeding
3. Treat Shock
4. Call advanced medical help

immediately
(A) 2, 4,31 (B) 1,2,34 (A) 2,4,3,1 ~-(B) 1,234
__ (C) 4,321 (D) 4,2,1,3 (C) 4,3,2,1 (D) 4,2,1.8
OTET/P-1 - (53) (Continued)
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148. GARYE SRe] AUg sweaea QIR 148. Which of the following acquatic animaj
Qi ? does not have gills ?
(A) zERIaq (A) Octopus
(B) &g (B) Squid
C) ag (C) Shark
(D) &4 (D) Whale
149, ° 02 AQQIQ 998 A6l 99 QI9l Qiwl 149. The famous Lucknow pact of 1916 was
CRIEE QTR CRIRYRI? signed between :
(A) QLY QU Q° 2 HES (A) Mahatma Gandhi and Aga Khan
(B) Qi GEQ SRS 96° ALFQ 2R &5 (B) BalGangadhar Tilakand Muhammad
Ali Jinnah
(C) ARl SR 9G° AILRQ B I (C) Mahatma Gandhi and Muhammad
Ali Jinnah
(D) QIR FEHIG ORE 99 I HIR (D) Bal Gangadhar Tilak and
Aga Khan
150. a2 Qigie 9ae ‘@8 QIgr 936 6ea 150. Which Indian mass movement
SIRG1E 8 AERIRF 2GR CLIRYNI? began with the famous ‘Dandi March'
of Mahatma Gandhi ?
(A) SMITE AR (A) Khilafat Movement
(B) LG BIERIRG (B) Non Co-operation Movement
(C) RS UM TIeRITT (C) Civil Disobedience Movement
(D) WIAES BIP UCRIRY (D) Quit India Movement
OTET/P-l (54) (Continued)



